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158 BA~iE 13320 H X 1M1 A = 1478520 @ | 13230 ® X 111 A = 1468530 M
BHiE~A 4680 M x 0 A = 0H 4530 A x oA = 0H
3vA |B~®ZE 37970 H X 2 N 75940 A | 37620 F x 2N = 75,240 A
it 1,799,260 M 1,786,360 A
TE— BiE~#%E 9,600 H x 53 A = 508,800 M 9,350 X 53 N = 495,550 A
1'7)51 B~iE 8,880 F X 23 A = 204,240 M 8670 M x 23N = 199,410 M
BHiE~A 3120 @ x 0 A = 0H 2970 A x oA = 0H
37A |A~®iZE 25310 X 1T A = 25310 | 24630 A x 1A = 24,630 A
648 |B~®ZE 47,960 [ X 1A 47960 M | 465520 0 X TA = 46,520 M
&t 786,310 F 766,110 M
HiE~ & 4000 M x 848 ft = 339,200 A 4100 M x 848 ft = 347,680 A
E B~iE 3,700 H X 3380 = 1,250,600 M 3,800 X 3380 = 1,284,400 M
HE~3A 1,300 @ x 0.0 0M 1,300 @ x o0 = 0H
&t 1,589,800 M 1,632,080 A
Bt 8,537,860 M 8,547,040 M
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